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QUESTION 1

How are the 3 editons, Express, Standard and Advanced, of IBM Business Process Manaier V8.5.5 diferentated?
(choose 2) 

A. Advanced Editon has built in ESB and SOA capabilites. 

B. Standard Editon and Advanced Editon support BPEL and BPMN. 

C. Express Editon and Standard Editon support load balancini. 

D. Express Editon is limited in number of cores and number of users. 

E. Express Editon and Standard Editon support Intel and Power Platorms. 

Correct Answer: CD 

 

QUESTION 2

Durini the process discovery and documentaton phase, a BPM applicaton developer is tryini to understand if a process
is unstructured or structured. Which of the followini characteristcs should the BPM applicaton developer consider?
(Choose 3) 

A. How predictable the process is. 

B. How well documented the process is. 

C. Are some actvites in the process optonal? 

D. What is the scope and complexity of the process? 

E. The value that the process represents to the core business. 

F. Are the process partcipants able to choose actvites durini executon? 

Correct Answer: BDE 

 

QUESTION 3

A BPM Applicaton developer needs to create a coach view for customers to check order status. The coach view is used
in a client-side human service and the feld labels must support diferent screen sizes. As the screen size shrinks, the
label text for the check boxes must chanie accordinily so that it fts on the screen without wrappini. What must BPM
Applicaton developer use to support this requirement? 

A. Templates to create multple coach views for each screen sizes. 

B. The event handler to support each screen size and its propertes. 

C. The confiuraton optons to enable the Responsive to screen size setni. 

D. Business objects to defne each screen sizes as inputs to the coach views. 
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Correct Answer: A 

 

QUESTION 4

Within a tre-producton process a leiacy system must be inteirated, which provides the rim sizes for each available tre.
All exceptons are handled in similar manner "except for the t re" not found excepton with the error code "TR001". How
does a BPM applicaton developer implement the excepton handlini? The BPM applicaton developer must: 

A. Loi the input and output values within the pre and post statements of the inteiraton service. 

B. Add a catch event to the inteiraton service. 

C. Add a specifc catch for TR001" to the artfact within the inteiraton service. 

D. Add a specifc catch for "TR001" and an unspecifc catch for other exceptons to the artfact within the inteiraton
service. 

Correct Answer: C 

 

QUESTION 5

A BPM applicaton developer is reviewini a business process built by a colleaiue. The process is an applicaton that uses
business objects based on an industry standard data model and uses several inteiratons to back end systems that also 

use that data model. 

The process has been throuih a pre-producton test cycle and is not performini well. The main area of concern is with the
BPM client side Human Service where the coaches take too loni to appear in the browser when the task is claimed. 

Which of the followini BPM factors should the BPM applicaton developer include in their review of the badly performini
Client Side Human Services? (choose 2) 

A. Executon of complex validaton services 

B. Boundary events associated with services 

C. Size of business objects bound to Coach Views 

D. Size and number of complex variables passed to each client side human service 

E. The number of intermediate events associated with each client side human service 

Correct Answer: CE 
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